
,) �!"�#���$%&��!'��$% �()*) �+�,�-(.*/

�����������	
������
�	��

*) �Lt
�K�&�� Y� �ft� ZfgnRj� RU� pegfosRSlgdRe� lej
riRRgn�}Vo|f��dggdek�Mlmfj�Re��RhlS�QoRhfjVofm� NN
z �Y}Z �*45) �vRS �*5 �+�D �PQ �EF4=.)( 

** �i) #"! �;�:��#�C����3��������7�������	���N��	�7=
�����1��7����	�7;����soRjl| fWsRefegl oVNjmsN 

*( �O
QK�M��
��S�<� T�M�jK��L�<� SKJK/�O�� �of�VfehT
wRilde� YelSTmdm� RU� M=rsSdef� pegfosRSlgdRe� NN
pejVmgodlS�qSfhgoRedhm �*444 �vRS �* �PQ �*4,=*4F 

*, �E!V!G!%! �;�:�<�C)>�6�! �;�@������	��������
�����7�������������8�����������	���������12�NN
"�����7���	���12������� �())4 �+�* �� �D4=EF 

*D �:�6oY7 �:�:��%��	��������������12��������12
�3��� �?�} =>����� ���� ���=�6�())* 

*E �'��j������ �flmg=m�Vlofm� Uof�VfehT� lelSTmdm� RU
Vef�VlSST� mslhfj� jlgl� NN� YmgoRsnTmdhlS� lej� rslhf
rhdfehf �*45. �vRS �,4 �PQ �DD5=D.( 

*. ���/J�/�����<�Lt�3�M/�����<�T�/������<�W�Q�����P��Ye�fUUdhdfeg
lSkRodgni�URo�msfhgolS�lelSTmdm�RU�nflog�olgf�|lodlxdSdgT�NN
pqqq�{olem �MdRifj �qek �*4F. �vRS �,, �PQ �4))=4)D 

*5 ������/���.�<�
K/��Kt�/�P�O�<��1/K�t���P��rsfhgoVi
RU�l� mfodfm�RU�sRdeg� f|feg6� kfefolgfj�xT� gnf� degfkolS
sVSmf�Uof�VfehT�iRjVSlgdRe�iRjfS�NN�Zfj �MdRS �qek 
}RisVg �*4FE �vRS �(, �PQ �*,F=*D( 

*F �N�3�/�O��M=rsSdef�rdkelS�QoRhfmmdek��Qlog�p�?�{nfRoT�NN
pqqq�{olem �Re�rdk �QoRh �*44, �vRS �D*�-(/ �QQ �F(*=F,( 

*4 �+!"]7���i�<�;")G��i]����������8��7��������1
��H���������C�7� �?�� �����6�())* 

() ��QK�����W�U��}RiiVedhlgdRe�de�gnf�sofmfehf�RU�eRdmf
NN�QoRh �pemgdgVgf�RU�[ljdR�qekdeffom �*4D4 �vRS �,5�-*/ 
QQ �*)=(* 

(* �.�M�Q�-����{nf�Vmf�RU�Ulmg��RVodfo�golemURoi�URo�gnf
fmgdilgdRe�RU�sRtfo�msfhgol��Y�ifgnRj�xlmfj�Re�gdif
l|folkdek�R|fo�mnRog�iRjdUdfj�sfodRjRkolim�NN�pqqq
{olem �Re�YVjdR�lej�qSfhgoRlhRVmgdhm �*4.5 �vRS �*E 
+�( �PQ �5)=5, 

(( ���Q���j�/J<�w�P�<�.Q
1��d�L��Y�gnfRofi�Re�sRSTkRem
de� e� jdifemdRem� tdgn� lssSdhlgdRem� gR� |lodlgdRe=

jdidedmndek� lej� hThSdh� |lodlgdRe=jdidedmndek� Sdeflo
golemURoilgdRem� NN�}RisRmdgdR�Zlgnfilgdhl � *4E* 
vRS �4 �PQ �*D*=*.) 

(, �~��� P�'�� \e� eReVedURoi� mlisSdek� RU� xlejtdjgn=
Sdidgfj�mdkelSm�NN�p[q�{olem �}dohVdg�{nfRoT �*4E. �vRS 
}{=, �PQ �(E*=(E5 

(D ���//�1� P�-�<� f/���1Q���'���� MloThfegodh� �lkolekf
pegfosRSlgdRe�NN�rpYZ �())D �vRS �D.=, �PQ �E)*=E*5 

(E �L1t
�3���
�U��Ye�pegoRjVhgdRe�gR��VifodhlS�YelSTmdm
-(ej�fjdgdRe/ �?�����zRne��dSfT���rRem6�*4FF 

(. �.K//��� P�<�.�
��/�&�� vlodlgdRelS� mVxjd|dmdRe� URo
elgVolS�hVxdh�msSdefm�NN�YssoRWdilgdRe�{nfRoT �*44F 
vRS �p� �+�( �PQ �,DE=,E( 

u��>�;%75�)?"�! �\�D858p5�?<

"_��67^?��?)85<�$�!`7��!�<

 7"8[�>�?)8\?#>��!6�8"?�5<

A!�8")��6 7??#>�?)8\?!_���%7"! )67%B�5�>

��$#6)67%B?#>��?�6�686� !7??!>�G7"�0�?#<

;%75�7>�@V!�7 �\�C)>�6�! <

�68"7?6<

5)`7"�)�rC7"�5!_67^?�\7�5�7

�?`!�G)0�!??#7�67^?!%!V��s<

C!�5! �5�>�V!�8")��6 7??#>�67^?�\7�5�>

8?� 7���676��G��Z����E)8G)?)<

;%75�7>�:)%7�B7 �\�E!V!G!%! <

"_��67^?��?)85<�$�!`7��!�<

 7"8[�>�?)8\?#>��!6�8"?�5<

A!�8")��6 7??#>�?)8\?!_���%7"! )67%B�5�>

��$#6)67%B?#>��?�6�686� !7??!>�G7"�0�?#<

V��C!�5 )<

�_�K
M9� dKt�t�3Qt
�cJ�K
M����

�����"�����
�������"��!��������#��$�����������%	�	&	���

�������������
������
����
�������������
���
�����	
�
�����	��	
���
���������
��
���������������
�����
���
����
��������
������������

��������
��
�����	

	!!"#$%&'

���������������������������������	���3�7�<CC�;����������	�:���3��������3��3���������������	��

���	���8��7�����	
����������9:�������16���������1���������	
�����������8���������CC�������������=
	�������������	�8���3�����������;��������������������H��H����8�����������;�������1������	�����������=
	�8���3��	3����2����8�������	:��1��	�3 �>�������1�����	
���1�<7�������������	3�����	
�������	���8��=
7��� ��	
����������9:�������1 �>��<7����������	
�1������1��������	��1�7�<CC�;��������	�:���3��
7�<CC�;����������3��3�����	
��������1 �"�7�����������������
�����	������������������������������	�=
��3�������	����	
�1���<7����������	
�1�������1�� 

��������

����	
��������	�����������	�8���3��	������
�$=�����������������3:�������3�3�	3���3������
��������	���������7����12�������	������������3
������������;���7�2����������8��7�2����	�����=
����A*B=A,B �>���<�����7���	
�1��3�	3���3�7�7���=
���H��������������������	���������12�C������=
��8��7�2����	��������6���7���������������12���=

�������8��7�2�������7�?�����8��7����������C��
������8��7��������������������������C�� 


��������������12�������:�����	�����������=
	�8���3�3�	3���3�����������
������������������=
	�8���3���C����;�����7	���8������������������=
2���8��7��������������	�����������G�7�� �������3=
�����������������3����������������3�����8��7���
��	�8���3������	���8��7����������� �>������2��=
���������7����	�����������87��8��������	���8��=



,*�!"�#���$%&��!'��$% �()*) �+�,�-(.*/

�����������	
������
�	��

7�9��7��
����	9��9��3�����������������������3
��	�8���3�����������������3���������	�:���� �>��
<���������3����������	3���3��������9��8����
�7	�=
��8�1���������������	���8��7�������1�-��������6
������7������7����/6������	�:�����?���	�8�������=
	�8�12�2����C�����-��������6������	��������7��=
��/ ���7����������6���������������������	����
7�<CC�;���������	�:���3���7�<CC�;�����������3=
��3� ���	���8��7��� ��	
����������9:��� ����1
-�P�/�3�	3���3��7���	
��������8�� 

�	�������������
6�8��������;�����3��2������=
�������6�������3���3���C���������6� ����������=
;������������������������1������	�����������	�=
8���3��	3�C�7������������	��1�����8��7��������
����� ����;����	
��� ���������8��� ��C����;��
�	3� ��H���3� ����8�� ��������������� ��	�8���3
���2�����8��7�2�2���7�������7����	�������� ���=
�1�� 7�<CC�;������ ���	�:���3� �� 7�<CC�;�����
�����3��3 � 0� ��3��� �� <���� ��������3� ��������7�
���126���	�����C��������12� �2������������ �0
�����3:�������3��7�������������9��3������1���=
����	���3�����8��7�2�2���7�������7��P�6�����=
����1�� ��� ���������� �������12� ��������	����
�	
���7����7�2�	�����12�����	
���6����H��H�2
8�������������9:����	���ADB �P�������;�3�������=
�12���������	����������	3�����:������������	�=
8��
���G�����C����;���������	����������G�7��6
����7�� �1��7�3� ��������
� ����	
������� �� <��2
������2� ��2��7�� ������8������ ����������
� �2
���7��8��7�������������3 

0������������������������������������������=
	���3�7�<CC�;���������	�:���3���7�<CC�;�����
�����3��3����	���8��7����P� �0�7�8��������2��=
������C����;��������������������������	
��9�=
�3�����	
���1���������3���������������������1�=
�����	�����������	�8���36����H��H����8������	��
���	�������� �P�6� �	3� ���2� ���8����� ��	:��1
�	�36����	3��������3����;��������2������3�	����=
�������	�8���3�8��������	���8��7�9��P������	
=
�����3� ���8�����3� ��CC�������3� ����	
� -^"�/
�����������	�8���3 �>�������1�����	
���1�<7���=
�������	
��������	�������3����2������3�	����=
�������	�8���3�8�������������9:����	������	�8=
������	:��1 �>��<7����������	
�1������1����=
����	��1�7�<CC�;����1����	�:���3��������3��3
����	
������������9:�������1 �>�������������=
������<7����������	
����������8���������������=
��	���1��2���7�������7����P�����������������=
���������������H��H����8������P����	�8���3���
��	:��1���������9:�����	�3 �>�7�����6�8���<7�=
���������	
��3������8����3� �������������	��7� 
��7����������6� <7����������	
�����7���������=
��������
� ������� ��������������� ������	���3
7�<CC�;����������	�:���3��������3��3����	���=
8��7�����	
����������9:�������1 �>���	�����1�
����������������	
�����
�3�7�7��	3�	���������12
C��������8��7�2� ���	��������� ���	���8��7�2
���7������-7����6���8����� �� /��������;������	�=
��8��7�2��7����6���7�����7�8��������������	3������=
��3�������7����12����������8��7�2�������7�?���=
��8��7����������C�������������������������8��=
7����������C�� 

���
��

0���:�����9:�2�C��������26�������3��12��	3
���	�������3� ���	���8��7�2� ����6� �	3� �������3
�������������3���	�8���3���������������	
�����3
��7��� @�����=��������=@<��� �	3� ������1�����
��	�8���3

( ) 0 ,a dU d U e−µ= -*/

����µK�?�7�<CC�;��������	�:���3���	�8���3K�N)�?
������������
������6�����9:�������������;K�N-�/
?�������������
������6����H��H����8�����������;
��	:������ 

>��7�	
7�� ��7���@�����=��������=@<��� ����=
���	����	3�8��������	�:�9:�������16�2���7����=
��9:���3�������C���8��7�����	�8����� -7�<CC�=
;����������	�:���3���	�8���3/6������	���8��7��
����1���18���3�	39��3� ��	
����������9:�����
����1��9��3�7�7�������������3���	�8������-7�=
<CC�;����������	�:���3���7�<CC�;����������=
��3��3/6���C�����������
������;�������C������=
����3�	3���3�������;�������������8��� 

�	�������������
6�8����������3:�������3������=
;1����	�����12����	���8��7�2� �������������9�
����	����	
����C���8��7����� 2���8��7�������=
���7�������6�8���1���	�8��
�8��������	�:�9:�9
���������������1��������8��
�����������
��2���=
�	�������3�������:
9������;�������C��������� 

���7��<�������������8����
���	�8���12�����	
=
�����6����	�8������������1��������6����1H�������=
�����
��������H��������	��1����������8������=
C�������������C��������8��7�2����	�������� 

0�7�8�������	
��������1��1������9�-*/�������
����	
�����3�����C�;�������1����7���@�����=���=
�����=@<��6���7�������7�<CC�;��������	�:���3�µK
�����3���3����7�<CC�;�����<7����7;���µ�I�µK�J�µ36
����µ3�?�7�<CC�;����������3��3 �>�	�8��������7��
���������1������������1�������		����8��7���C�=
���16����H��H���8�������	
����������9:�9������ 

���7�����7�	
7������7�����������������7�7���		�=
���8��7��6���7��������3��1��C����16���	���
������=
����3��������6�����	
��9:�2�����C�;�������1�
��7���@�����=��������=@<��6�������8���� �$�	�8�=
�������9��;��7�����������	�3��3����;����������3=
��3��������	
���1��������������������
6��;����
��	9���		����8��7�2�C�����������:�������������=
�����������������������������	��AEB�

1 2

,
a ad

b

s b

U
e

U U

 µ µ  −µ − −  µ µ  =
+

-(/

����Nj� ?�������������
���		����8��7�2�C������K
N3� ?�������������
������3��12�C������ �"	3���=
������	������7����� A*B�µ���E)���?*6�µK���*)���?* 
����	
��3�-(/6�������������	��
6�8�������������	=
:���������;����I�)6)D����7�	�8�����������3��12
C�����������:�����	�8����6����H��H���8��������=
�����9:�9������6�������������	3�
���	�����	���=
�1����2�C������ ���7����������6��	3����	�����=
��3��P��������:
9�����8��7������	�8���3�����=
2����������	
������������	��6�����1��9:�2���=
�������������3��12�C������ 



,( �!"�#���$%&��!'��$% �()*) �+�,�-(.*/

�����������	
������
�	��


�����1������������������3��������������3
����8��7������	�8���3� �����	���8��7����P��3�=
	3���3����������������������	�8���3�-^>�/����8�=
���������3��36�7��������� ���;���������������	3
���������������1��������1�
� ��������� �	���9=
:�����������AEB�

( )( ) ( )
( ) ( ) ( )

4

, ,

, ' ' ' , ,s

grad r r

r d S r
π

Ω Φ Ω +µΦ Ω −

− Φ Ω µ Ω Ω Ω = Ω∫∫

� � �� �

� � � �� �

� -,/

���� ( , )rΦ Ω
��

�?��	������
�����7��C�����������87�� ,r
�

�����:�2�3���������	����� ;Ω
�

� ( )'sµ ΩΩ
� �

� ?���CC�=
���;��	
�1�������	���7�<CC�;����������3��3���=
	�8���3� -����7������������3��3/K� ( , )S r Ω

��
� ?��	��=

����
�����8��7���C�����������87�� ,r
�

������:�2�3
��������	����� .Ω

�

^>��-,/�����:��������������������	���8��7���
��H���3 � >�<����� ����2����1� ����	����	
�1�
����:���3� -������� �������^>�6���������2���H�=
��36� ��������2� ����1���� �� /� �	3���	�8���3����=
�	�����������H���3 �0�7�8��������7������H���3
^>������������	
�����
����8�����9���CC�����=
��9�����	
�A.B �0���	�8������7	����8��7�����CC�=
������������	��ADB6����8�����3���CC�������3���=
��	
6�����8����8������2����������������	�������
	�����������	�8���36���	��� ��8�������1����� ���
�������������������������9:�����������6���8���=
�����6��������2����������	�8���3�8����� ���7��
�	����P����	:��������3�7���	��1� ����������
������� 

���^"���� ���;����������	�8�����������	�=
8��
��	���9:����1���������	3�����������������=
	�8���3��������������87��-e6�d6��/��P��

( ) 0

2
2

4 5 3 2 3

3
, ,

4

3 3 1
,

2

krU x y z U e

k k z k
Dz D

r r r r r

−= ×
π

      × + + + − +            
-D/

���

2 2 2 ;r x y z= + +

ak
D

µ
=

?� <CC�7����1��7�<CC�;�������	��	���3���	�8�=
��3K

( )
1

3 's a

D =
µ +µ

?�7�<CC�;�������CC����K
µ3′�I�µ3-*�?�J/�?�����;�������1��7�<CC�;��������=
��3��3K�J� ?� ��������7���������	�������3��3� -C�7=
���������������/ 

"	3�����������������	�8���36����H��H����8�=
������������9:����	�����	:�������������������=
����������7���	1������7����������������6������=
����3��1��������-D/�����	�:��������7����

( ) ( ) ( )
2

0 0 0

, , 2 , ,
R R

sU z R U z d d U z d
π

= ρ ρ ρ ϕ = π ρ ρ ρ∫ ∫ ∫

����ρ(�I�e(�J�d(6���������	�8��


( ) 2 2

0

2
2 2 3 2 22 2

3 1
,

2 2

1 1
.

2

k z k R z
sU z R U e Dk e

k z
Dz D

R z R zR z

− − +  = + − ×    
      × + + −    +    ++   

-E/

�����;�����3��2����C��������������������;���
��������������������1������	�����������	�8���3
�	3�����������8���3���	:��1������;�����������;�=
���	
������������8�����C����;����	3�������	���3
���2�����8��7�2�2���7�������7����	������������1 
0�7�8��������	�����C������������������1�
�����=
	�������2������������������������;��������������=
����������1������	�����������	�8���3��	3����2����=
8�������	:��1������;��-������/ �>���<�����	3�����=
��	���3�7�<CC�;����������	�:���3��������3��3���=
�	�������� ����1� ��� ����	
������ ��������3
��	��	���3���	�8���3��	3����2����8�������	:��1
�����;��������	
�����������������3�-E/�����2�����
��H��
��	���9:�9�������������������

( )
( )

( )

1 1

2 2

, ;

, ;

;

1
,

3 '

s

s

a

a s

U z R U

U z R U

k
D

D

=


=
 µ =


 =

µ +µ

-./

����N*6�N(� ?� ���8���3� �������������� ��	�8���36
����������������1��7���	1������7�������������
���������8���32���	:��1������;���*����(��������=
������� 

�	�������������
6�8�����������-./�������������=
	���8��7������H���3����	3���	�8���3���H���3���=
��2����������	
�����
�8��	���1�������1 

5����
�����

"	3�<7����������	
����������7�������������=
��	���3�����8��7�2�2���7�������7����	���8��7��
�P���1	���������������������7�6� �2����7������
��������	������������	 

����������
������
�
�� ���	
�������	������

�������
�
	�����3�
�
�
������NCC���
�	��3�����
�����
��NCC���
�	������
�����1������

��� ����J�1

#
�B

��	
�������	$�����

������	�
����&�1
�
)�1

�
�B���	
�������	$

����

���)����
���	������������
	
�	������������

�� 
	�����������
���7�
��������2

�
���2

�
����	�
	�	�
���



,,�!"�#���$%&��!'��$% �()*) �+�,�-(.*/

�����������	
������
�	��

0�7�8����������8��7����	�8���3�����	
����	=
�3���	���������7��1��	�����ML�Q=5))���������=
����� C���1� �Mfhufo� �� LdhuS� XixL�6� �������3
-�	������	�1�5F(���/ �>�����1��7���	�<7�����=
�����	
���� �������7�� ���	������� ��� ����� b�^
LYZ=LE5F,=)(�C���1��LlililgmV� 

0�7�8����������	
�����P������	
����	�3��������
����������	3�-��	�7�/��������������G������7��;���=
��;���E6E�� �P���������	���	������3�����	
��9����7=
	3���9���7���
6�����<��������8��7���	�8���3��1	
�����:������������2����
9���������6�������7����?����
�������7����6�8��������	3	���������������
������=
�������
���	�8���3��	3����	�8�12����8�������	:�=
�1��	�3��P�6����������������	�33���7���
 �>��7�	
=
7��������7�����3�	3	��
�������8�1��-���7	3��1�/6
��������	�3	���������	
���1�<7���������� 

P���	
���1���������������������������	�8���3
�� ������������ ��� ��	:��1� ��������9:���� �	�3
-���3	��
����()����**)���/���������1����������)6�* 
������������
� �������������������� ��	�8���3
���������	��
����<�����9��������C����� 

�	�������������
6�8�����	�8����3�����������

���3�	3���3� <7������;��	
���6� � � � �����C�;���=
����1�� ��7��� @�����=��������=@<��� ��� �����
�1�
�����	
����������������������2������3���=
��8��7������	�8���3�8��������	���8��7�9��P�����
��	:���������;�6���:�����������	
H����	��1����=
����������������C����� 

>������	
�������������������������������1	�
����������������	���������8��7�2�2���7�������7
����	
�����P���	3����	�8�12��������8�������	=
:��1���������9:�����	�3 ���������,)6�*��������=
�1�����	
���1�������������������������������8�=
��3�∆��I���(�?��*�������*�I�(E��� 

>������	
�������������7��<7����������	
�12
����12����8���3�7�<CC�;���������	�:���3������=
��	��)6))*,���)6)))(���?*6����8���3�7�<CC�;�����
�����3��3��������	��)6,*���)6)(���?* 

"	3� �;��7�� ��8������ ��������������� ������
C��������������	
����	��
� �	���9:�3����;���=
�� � >�� ����	
������ ������	���3� 7�<CC�;�����
���	�:���3���7�<CC�;�����������3��3� ������	
=
����������������������������������	3����2� ���=
8�������	:��1���������9:�����	�3������	��
���=
�����8��7�3� ����������
������������������H��=
H����8������P����	�8���3������	:��1��	�3�����=
��	
����������1������3� -,/ �>�	�8����3� ��7��
�����������8����3�����������
���������	��
���<7=
����������	
��� ���������2��������������������=
����8��7��������������6���	�8�������������	
��=

������������4��
���N��3
���
�	��$�� ���	������

�������������������������������H��H������	�8�=
��3��	3����8������*�I�(E�������(�I�EE��� �P��8����3
����������
�2���H�����	������3���<7����������	
=
���6���7	�������������2�<7����������	
�12���8�7
�������1H������������8��7��������H������<7���=
������� � ��7��� �������6� ��7������ �������8��
�1��7�3���8����
���������������������� 

������

>���	�����������������	���3�����8��7�2�2�=
��7�������7�-7�<CC�;���������	�:���3���7�<CC�=
;�����������3��3/����	���8��7�����	
����������=
9:�������16�������9:���3�������8���������CC�=
������������	�������������	�8���3�����������;��
��������������������1������	�����������	�8���3
�	3����2� ���8�������	:��1���������9:�����	�3 
>���	�����1�������������	3�������	
�����
� ��=
:�����������	�����H��1������������� -����8��7�
������7���1�����8��7������	�8���3/������������9
����������6���������1�����������������������12
��������	������	
���7����7�2�	�����12�����	
=
���6����H��H�2�8�������������9:����	�� 

>��������� <7����������	
���� ���	��������
���;��������2������3�	�����������	�8���3�8����

�6

16
��������Q��3
���
�	��$���3���

��������������	$

��	
�������	������

���)�3��G
�G
���

�
�
����
���7�� ���� )��	�	�����������
���7�
��

����������
 ����5�6���������C��

�����516
���G	�1��



,D �!"�#���$%&��!'��$% �()*) �+�,�-(.*/

�����������	
������
�	��

����	
��9� ���	���8��7�9� �P� � >�7�����6� 8��
����������
��������������� �������������������
��	�8���3������	:��1���������9:�����	�3����3�=
	3���3�<7������;��	
��� ���7����������6�����C�=

;�������1����7���@�����=��������=@<�����������
�1�
� ����	
������ �	3� �������3� �������������3
	�����������	�8���3����P��������	:�����	�3���	
=
H���	��1��������������������C����� 

>������	
������<7�����������������:
9�����=
	����������������������	��1�����8��7���2���7=
�������7��-7�<CC�;��������	�:���3���7�<CC�;�=
���������3��3/�����	
�����P� �>�7�����6�8�����=
	�8���1�� ���8���3�7�<CC�;���������	�:���3��
7�<CC�;������ �����3��3� ������	39�� ���8����9
����������
��������������� �������������������
��	�8���3������	:��1���������9:�����	�36����7=
��8��7�� �������9:�9��� <7����������	
���6� 8��
��7��1����������������
�����	��������������� 

�	�������������
6�8�������	�����1����������=
����	���3�����8��7�2�2���7�������7����	���8��=
7�2����������������	
�����
������	
7�����������=
�������12�����������;���7�2�C���������6�������
7�8��������������	3��������3����12����������8��=
7�2�������7�?�����8��7����������C�������������=
������������8��7����������C�� 

'������ 
����	�	�� ���� (�
��(	��� ���������
��������	���� ���	�
�
�� ��� ����)�
�	�*��������
'+,"!"$"$-./0&"

4$��!5�%�67�)68�#9

* 
���8��7�3��������;���7�3����������7� �0�(� � 
� � * � N�>�� � �� ���	 �>�� ���� �0 0 ���8��� � ?�� �
b�����	��6�())5 �E.)�� 

( ;%75�)?"�! �C�(���������3�7	���8��7�3����C���=
�����3�-�����36�<7���������6����7��7�/ �?�� ����2=
���C���6�())F �EFD�� 

, MdRifjdhlS�QnRgRedhm�LlejxRRu �qj �{ �vR=wnde 
?�MRhl�[lgRe6��ft��Rou6��RejRe6��lmndekgRe�w } �
}[}�Qofmm6�()), 

D -K11�/3���O���<�WQK������<�.
M3�����W��{dif�ofmRS|fj
ofUSfhglehf� lej� golemidgglehf� URo� gnf� eRede|lmd|f
iflmVofifeg�RU� gdmmVf�RsgdhlS� soRsfogdfm� NN�YssSdfj
\sgdhm �*4F4 �vRS �(F �+�*( �QP �(,,*=(,,. 

E (7�7[7?5!�4�;�������1��18��	���	
�����������=
C�� �?�� ��b�����	��6�())D �,()�� 

. (7�7[7?5!�4�;�<�I!"V)705�>�:�C�<�i)?�%! �;�;�
^��8�����3���CC�������3�����	
��	3��������3
�������������3�	�����������	�8���3������	���8��=
7����������NN�
���7�������7����7���3 �())5 �� �*)( 
+�E �� �FD)=FDE 

;��7?�>�;?)6!%B7 �\�i)?�%! <

5)?"��`�Y�_G)6��?)85<��6��?)8\?#>��!6�8"?�5<

47�V7>�;?)6!%�7 �\�i!%V8p�?<

5)?"��`�Y�_G)6��?)85<

�6��?)8\?#>��!6�8"?�5<

;?6!?�47�V77 �\�F85�?<

�?]7?7�<

47�V7>�;?"�77 �\�(7�7[7?5!

"_��`�Y�_G)6��?)85<�$�!`7��!�<

5)`7"�)�*�!G7"�0�?�5�^����67G<

C!�5! �5�>�V!�8")��6 7??#>��?�6�686

a%756�!??!>�67^?�5���67^?�\7�5�>�8?� 7���676�<

V��g7%7?!V�)"<��_�K
M9�/�KM3�K1c/K�jM�/�/�

�6

16
�����-���
���$	�	���3�
�
�
������NCC���
�	�
3�����
����5�6�����NCC���
�	������
�����516
���
�$�� ����������������	���	����

���

∆2�!�m2
�
�B�2

�
m�3���2

�
�!��'���

�����'��Q��3
���
�	��$����5	�
��6�������
�	������3�
3���

��������

�������NCC���
�	��3�����
�����

��NCC���
�	������
�����5�3��G���������6
���������	����	
�������	�����
���	�����������
�
	
�	���������

�����	�	�����������
���7�
��

����


